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827-ESC#show ip interface brief
Interface IP-Address OK? Method Status Protocol
ATMO unassigned YES manual up up



ATMO.1 unassigned YES unset up up
Ethernet0 10.10.10.1 YES manual up up
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Router#show interface atm 0
ATMO is administratively down, line protocol is down
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<... snipped ...>
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Router#configure terminal

Enter configuration commands, one per line. End with CNTL/Z.
Router (config) #interface atm 0

Router (config-if) #no shut

Router (config-if) #end

Router#write memory

7o Elopo| R&L{7H?

ATMO QIE{T0|A AEN7} Che 2 Cheol 2 2 Elol ADSL Mol FH2lof7t B AIEIX| et
ch.ols Yitsioz = Jtx| 2 5 stLHE LIEpALIC

. DSL 2#40H ®o| &t A L
. ISPO{|A{ O] E4H ZHof| DSL A-II:II E A
Cisco DSL Router xDSL X E Elo}

rE
E
I
s in
0
>

RJ-11 HEE = EZ RJ-116E 22 ME Sl 2|F O|C|o0oi xDSL @122 MSELCt

= ke
3 XDSL_E!
4 XDSL_Z

o
o
Ho
m
£Q
rr
Ral
Jl'l
oT-

ATMO QIE{H|O|A 7} CH2 & O|5l242d 2FRE{ 2| enable 2 E0{| A show interface

atm 0 BHE S A™eLICH

Router#show interface atm 0
ATMO is down, line protocol is down
<... snipped ...>
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Router#configure terminal

Enter configuration commands, one per line. End with CNTL/Z.
Router (config) #interface atm 0

Router (config-if) #dsl operating-mode auto

Router (config-if) #end

Router#write memory
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Router#show version
!--- Used to determine your Cisco IOS software release. Cisco Internetwork Operating System
Software IOS (tm) C820 Software (C820-0SY656I-M), Version 12.1(3)XG3,
EARLY DEPLOYMENT RELEASE SOFTWARE (fcl)
!--- The two lines immediately preceding appear on one line on the router.
TAC:Home:SW:IOS:Specials for info Copyright (c¢) 1986-2000 by cisco Systems, Inc. Compiled
Wed 20-Dec-00 16:44 by detang Image text-base: 0x80013170, data-base: 0x80725044 <...
snipped ...>
2. CHO 2ZE <8l 2tREE F &L
Router#configure terminal
Enter configuration commands, one per line. End with CNTL/Z.
Router (config) #logging console
Router (config) #logging buffer
Router (config) #service timestamp debug datetime msec
Router (config) #service timestamp log datetime msec
Router (config) #end
Router#write memory
Building configuration...
[OK]
Router#terminal monitor
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Router#debug atm events
ATM events debugging is on
Router#
2d18h:
2d18h: RX interrupt: conid = 0, rxBd = 0x80C7EF74 length=52
2d18h: Data Cell received on vpi = 8 veci = 35
!-—- Your VPI/VCI. 2d18h: 2d18h: RX interrupt: conid = 0, rxBd = 0x80C7EEC0 length=52
2d18h: Data Cell received on vpi = 8 veci = 35 2d18h: 2d18h: RX interrupt: conid = 0, rxBd =
0x80C7EECC length=52 2d18h: Data Cell received on vpi = 8 vci = 35 2d18h: 2d18h: RX
interrupt: conid = 0, rxBd = 0x80C7EED8 length=52 2d18h: Data Cell received on vpi = 8 vci
= 35

4. Cisco DSL 22 E{0]4] SIHE|E ATM OIYISE CIHIB CHE S 3HE OIE{A #Z= OIS
504 ISP7t Mo = st IP —’F— £ pingdt7| At LIC} Cisco DSL 2HRE{0lM O] IP F
A8 TEUEX| R = ER56HX| eiGLICLERE W2 ATM QB 0|A 7 & 5/5 S 5HH
ISPOI| M A B8t IP FAE pingsteE 3Z'°.=.'L—|E|'.p|ng EIAE F of&f £340| EAIL|X| gt T
ISPOI| X|#g RESHMAI2.

5. B} RE{0| M C|HZ E HIEH5H & L|Ct<<60% CH7| >>

Router#undebug all
!--- Used to turn off the debug events. All possible debugging has been turned off.
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Router#ping 192.168.1.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds:
Success rate is 80 percent (4/5), round-trip min/avg/max = 44/44/48 ms
Router#

or
Router#ping 192.168.1.1

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 44/44/48 ms
Router#

pingE ‘S

Ho{EL
0|04 3 Ht
L|C}. ping

MO 2 £EEE{H F 7HK| A & St “'OE LICHA i A2 80%2| BB ES
HM&E "4 H'UKH ping ZHZ! 0| AAIEIL—IE (). ol 832l pinglLIct. 2lojoq 2-ai
I=l0| ARP(Address Resolution Protocol)& &3l *”“El Set A ¢ miZlo| &4F

| = Sl F A2 100% MBS EOIH, 5712 = EMMNNE EA[ELICH

x4

mr

433
o o
CH.
(o]
—
gl

H3E0[80~100%2 4% Rt lEHY F

Al2. 2t RE0M 7|2 HO|ERIOIE plng%F
Tago|Mo 1™ 7|2 27} 5tLtEt /J=R
192.168.1.1).

_+_(198 133.219.252 www.cisco.com)S ping3i
2 QIX|Dt C}E QIEY FAE pingE £ 9= 4
|

>

=]
-
o
=2 T BHAT ©OT

ol
2 IErL|CHA: ip route 0.0.0.0 0.0.0.0



ol oflo M SHIE 1™ 7|8 B2t 1 QB F4E pingE + = T2 ISPol| £2|5t04 2t
E

L 2HE HHH AR,

ping EIAE 7} ATl H(ping 4SS E 0%) CHS 1t FAE £230| ZAIELICEH

Router#ping 192.168.1.1

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds:

Success rate is 0 percent (0/5)

Router#
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